EAGRAROBREERT — 2 N— ABISH —F

202051 H218 (K) 1EEER4E

Al 3EC2 H5R3K (xwlw | mEmml - |5 6) o 8
[A&4£] 1 7 :400,000  ~ 2 3% :112,000 A 3% :56,000 47%:40,000” 5 3&:32,000H
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
N = BEET :36. 22— . — EREY (FEh)
(sl T1oenzzrn 4 3 Amwf 1(3_6)6 2-2-2-2 | 39.8 1 (4_(11) %Z#ﬁ;
LA Lk—L B:I1 %4271 SERS
=T # 3 | ElliE— 1:36.8 1-1-1-1 | 40.3| — 2 471 | BB (FElR)
1l > PANEATS 55.0 () (-5) | FIRvEER
R:7774— BRFaH—I P95 BER
> o 4 3 | WHEBEX 1:37.0 5-5-4-3 | 39.9| — 3 306 | WWOZE (FEk)
3Py 4| TV NF TS 54.0 (11/2) (g |BEN
Rib—trTYa—4r BiFISHIrIYaY WA Ei
3 | FthE— 1:38.1 4-3-5-4 |41.0| — 5 514 | /AVHEH (E)
4 1| ZT—bvlb b= il 55.0 7 3) ) ALs—
R:vIrTARN— B:ZYIfEaLy b ZMAXY =T 1 =)V KT 7 — Lt
< _— PIIED :38. —4-3- . - KIF (Fhi)
50 6| FINA/NNY 3 I 1 (338)6 3-4-3-5 | 41.6 4 ;1_0; ity
R:g7—3IYF7> B:Zy/%33 BEH #%8
Po i 3 | AL 1:39.0 6-6-6-6 | 41.4| — 6 440 | /RIS (EE)
o3| 2777 LR 54.0 (2 172) o | EE=
R:THAF LT BiL—TRT7I LR B 7714
® 1 —F—@EBIERL
1T=7r= 2,5,6,1,4,3
23— — 2,5,1,6,4,3
Ja=9= 2,5,6,4,1,3
43—+ — 2,5,4,1,6,3
[ N5
B 5 110 714K 2-5 100 B E 2-5 170M JEE 2-4-5 160M
B B 5 100 4-5 130 B H 5-2 190H 3B 5-2-4 300M
2 120M 2-4 170H

ARICOVWTRDTEEERROODE. TR LI,




